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ml-lg.md=+Cappm
-g.mol

-g.mol:=Na,=Ca

Ca(s) + NaCl(aq)RCOONa(aq) + CaCl

-×

pHlog

HCl(g)STPpH

log

××

××

-×/-×/
-×-×-×-×

www.konkur.in

forum.konkur.in

https://t.me/mrkonkori


pH
-,-

HXHY=mL

pHHYHX

log =

OHC

OHCOHCOHCOHC

pH
-

-××-××
-××-××

HA

-×-×-×-×

MOH

MOH

MOHHCl

O(l)
-g.mol:, Cl==O,=HgmL

OH

HNOHCN

pHHA

/

××××

HApH =

=aK
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COBa(OH)

HClCO
-: g.mol, O=C=

O(l)(s) + H(aq) + COBa(OH)

O(l)(aq) + Hl(aq) + HCBa(OH)

pHHA

O(l)(g) + HHCOaN
-: g.mol, Na=, O=, C=H=

HXHY

pH
-: g.mol, HY =HX =

aKHXaKHY

HYHX

HXHY

HApHpH
-: g.mol, O==N,H=

NaOH

(aq)+NappmHCl

NaOH
-: g.mol, Cl==Na,=O,H=
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MOH×(aq)+OH

OH

××××

××××

ADXYZ

Y

HX

A

DDX

ZDLiF

DSH

HCN] =[CN

pHpH

HA

Co×HACo

Co

Co

pH

-: g.mol=Ca,=F

O(l)(aq) + HFaCF(aq) + Ha(OH)C

IIIpH

III

III
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-: g.mol, K==O,=H

×/HCl

(aq)OH(aq)+H

]OH[

HAHDpH

[HD][HA][HA]-mol.LpH

,     d) BaO,     c) SOO     ,     b) COa) K

addadabcbbcc

HA

][OH]+O[H

YOHHXpH

pH

HXHYHZ

HX

HY

HZHX

HY

HXHZ
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pHHA=pHHD= /

HAHD

HAHD

III
-: g.mol, O=N=

III

pH

HAHD

]+O[HHA]+O[HHDpHHA

pHHDpH

(aq)O(l) + BaBrHBr(aq) + Ba(OH)

Ba(OH)

(aq)+BaBaBr

-: g.mol, Ba==Br,=H

(aq)HCl(aq) + F(aq)HF(aq) + Cl

(aq)SO(aq) + HCN(aq) + HCN(aq)

(aq)(aq) +HNO(aq)(aq) +HNO

(aq)COOH(aq) + BrCH(aq) + HBr(aq)COOCH
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(aq)XHX(aq)×/

HX

HX(aq)HY

×

pHpH

COHF

ONaON

pHNHaOHN

ORbHCN

×=aK

pH
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C

EAg(s)(aq) +++AgM(s) +E

EM(aq)+Ag(aq)+M

Ag(s)Zn(s) + Ag

OAg

Zn(s)OAg

kgIII

-:g.mol=Cr,=Ag

kg

STP
-:g.mol=H,=O;(g)(g) + OHO(l)H
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emf(V)emf(V)

E (V)-+-
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VCu(s)] = +(aq)+[CuV ,  E-=Zn(s)](aq)+[ZnE

E

]+[Cu]+[Zn

mLII

(aq) + Cu(s)++Al(s) + Cu
-×-×-×-×

(aq)AgNO

)(aq+AgLpH

pH
-g.molAg =+Ag

+(g) + HH

×

-: g.mol, Al =, F =O =

O(l)(aq) + NO(g) + H++(aq) + HAg(s) + NO

V/oE,)s(r(aq) ++rCVoE,(aq)++Ce

(aq)+Ce

(aq)+CeCr(s)
oE
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M

E (Hg +(aq) Hg(s)) = + / V(aq)+M+) + HgM(s

E (Sn +(aq) Sn(s)) = - / VSn(s(aq) ++M

E (Mg +(aq) Mg(s)) = - V+gMM(s) +

E (Mn +(aq) Mn(s)) = - V(aq)+Mn(s) +Ms(Mn(aq) ++M

V/oE,O(l)H+)s(Si++H) +s(SiO

V/oE,(g)OH+)g(H) +l(OH

pH

)s(SiO

pH

O(l)HSi(s) +(g)H+)s(SiO

++++A

B + YSO

AY

emfMg - AemfMg - B

M + XClB + XCl
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(s)O(l) + O(s) + HI) Fe(OH)

O(l)(aq) + H)(SOSO(s) + HII) Al(OH)

Fe(OH)×

III

I

II-: g.mol=Fe,=O,=H

X

HXOXHXOHXOH

XOHOHXHHXOXH

(aq)OSSO(g) + HSO

(aq)(aq) + Cl+(aq) + H(aq) +H(s) + ClOI

O(l)(aq) + H(aq) + OH(s) + Cl(aq) + ClOPb(OH)

(aq) + KCl(aq) + HCl(aq)(aq) + H(aq) + BaClOCrK

V/+=](s)Pt(aq)+[PtE,V/=](s)Pb(aq)+Pb[E

E
+Pt+Pb

×

(aq)+Pb

(aq)+(aq) + Cu++Fe

STP
-: g.mol, Cu ==Fe,=O,=H
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pH

(aq)+H

XA

A

A

X

XA

E

VoE,)s(V(aq) ++V

V/oE,)s(Pb(aq) ++Pb

V/+=oE,)s(Ag+Ag

(aq)+V(aq)+Ag

(aq)+VV(s)(aq)+PbPb(s)

EE

Ag(s)(aq) +++Ag
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ad

(s) + CO(g)(g) + CaSiOP(s) + C(s)(s) + SiO)(POa) Ca

(aq)PO(s) + HCaSO(aq)SO(s) + H)(POb) Ca

O(l)(s) + NO(g) + HI(aq) + HI(g)c) HNO

(aq) + HCl(aq)POHO(l)(g) + Hd) PCl

V/+(s)] =Pt(aq)/+Pt[°E,V-(aq)/Mn(s)] =+[Mn°E

°Eemf

V(aq)/Co(s)] =+[Co°,  E(aq)++a) Co

V+(s)] =Ag(aq)/+Ag[°Co(s)   ,  E(aq) ++Ag(aq)+Co(s) +gAb)

V/(s)] =Zn(aq)/+Zn[°,  E(s)Ag+(aq)+Zn(aq)+Agc) Zn(s) +

V/+(s)] =u(aq)/C+u[C°,  E(s)uC(aq) ++Co(aq)+uC(s) +Co)d

abcd

(aq)OH(s) +I(s) +MnOH(aq) +(aq) +I
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×
-: g.molO =

Al(s)Au(s)

II

Ag(s)(aq) +++AgFe(s) +

III

E°

Cu(s) + Fe + +(aq) + Fe(s) , E°[Fe +(aq)/Fe(s)] = V

V(s) + Fe + V +(aq) + Fe(s)          , E°[V +(aq)/V(s)] = / V

V(s) + Cu + V +(aq) + Cu(s)        , E°[Cu +(aq)/Cu(s)] = + / V

Zn(s) + Cu + Zn +(aq) + Cu(s)    , E°[Zn +(aq)/Zn(s)] = / V
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(aq) + D(s)++A(s) + D

°E(aq)/D(s)+D°E(aq)/A(s)+A

(aq)/D(s)+D
+D + X+A + X

AYDY

O(l)H(aq) ++COOH(aq) + bCrCH+(aq) + aHCr) +OH(aqCHCH
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X

X

Si

S

mLVmg

-:g.molZn=(aq)+Zn(s)(aq) ++V

(V)(IV)(III)(II)
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SiO

-

ONHCOCS+HN

kJ.mol

OAlOFe

LiF-kJ.mol

CaOMgONaF

FO

+Na
+Mg

HFNaCl

LiCl,KFNaF,LiBrNaCl,LiFMgF,ONa
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a

b

c

d

adbc

badc

dacb

cdab

AD

XLiF

DXLiF

AXLiF

XAXLiF

DDXLiF
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ADAX

DX

DX

XD

DX

DX

A

DJM

DGE

EJM

ZME

A
JE

D
MGZ

LiF(s)

III

III
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Opm

Napm

)-:g.mol, S=, O=, C=(H=

ab

ac

dc

acac

+Alpm

pm
+Ca+Na+Mg+K
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aEaE

N = OO = O

HaE

-.molL

H <(g) ,NH(g)H(g) +N

(g)TiCl

(aq)POO(l)(s) + HPCl

pH
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-L.mol(g) , K =Cl) +gO(H(g)HCl(g) + O

OHClOHCl

K-.molLS(g)(g) + HCH(g)(g) + HCS

km
-:g.mol=N,=O

(g)FO(g)H

HFK
-mol.L

)g(F(g) + HOO(g)H+)g(F

-:g.mol, H =N =

(g)NH(g)H(g) +N
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(g)(g) + O

NON

CO

COyHxCNO

-g.km

aE

a=a

Aa kJ

Ea < a

a kJ

a kJ

O(g)(g) + H(g) + NO(g) + NHNO

N
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TT> TT

TT

TT

TT

TTaE

a KJIII

E(g)KJ

III

AD(g)X(g)

Z(g)(g)(g) + YX

XYZ

PET
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AB

AB

NO

Cl(g)NO(g)(g) + ClNONO

NOCl
-:g.mol, Cl =, O =N =

(g) , K =(g) + ONNO(g)NO
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III

Ia - b

IId-c(g)NO

(g)O(g)Cl

CO(g)O(g)H

(g)(g) + HCOO(g)CO(g) + H

(g)COCO

H(g)OHC(g)HCO(g) +

COH
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III

III

III

IkJ

DIII
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